


Problem of the day!

Mary downloaded the
sarme mnmnurmber of apps for
her phone each week.
She downloaded 54 apps
over a period of 9 weeks.
How many apps did she
download each week™?

54 — 9=6
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Transport

12-10=2
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Miss says....
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What will my success
criteria look like?

N—

* | can interpret information from charts

e | can use this information to answer
guestions related to the data.
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How many more points does the Sycamore team have than the Ash

team?

How many points do Beech and Oak teams have altogether?
How many more points do Ash need to be equal to Oak?

Activity nomber sfveree | [1OW Many people voted in total?
1
Bowding 9 — of the votes were for
Cinema 10 4
Swirvring 7 7 more people voted for
lca-skating 14 than
Attraction MNumber of visitors on Numhe;:: :ﬁtﬂrs on
Fawaunite ice cream Animal World Zoo 1282 2564
T:: Maltings Castle 2,045 1,820
- Primrose Park 1952 1325
‘. Film Land Cinermna 2054 1,595
oo True or false?
;_ * The same number of people visited
o I Maltings Castle as Film Land Cinema
Rosie says, R on SEtUI’dE}F.
We asked 54 people ] * Double the number of people visited
@ altogether. Animal World Zoo on Sunday than
Saturday.

Can you spot Rosie’s mistake?
How many people were asked

altogether?

* The least popular attraction of the
weekend was Primrose Park.




When you have completed your work
look at the next pages to check your
answers.
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How many more points does the Sycamore team have than the Ash
team? 15

How many points do Beech and Oak teams have altogether? 140
How many more points do Ash need to be equal to Oak? 20

Wiy | e | TOW Many people voted in fotal? 40

1 |
Bolng ) - of the votes were for ¢'nema.
Cinema 10 4
Simnig ;| /' more people voted for Ice skating

lco-skating 14 | Than SWimming
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. w 20 — Rosie has read the
bar chart
incorrectly.

15 people chose
wvanilla, 19 people
chose chocolate,
10 chose
strawberry and 12
chose mint.

That means 56
people were asked
altogether.

Wurmbsar of childran

e Cream flasoor

Rosie savys,

=

Can you spot Rosie’'s mistake”?
How many people were asked
altogether?

We asked S4 people
altogether.

_ _ = False
R - Number of visitors on I'-hrnbe;::::;mrsnn ThE Fll_rT"'I Land
Anamal World Zoo 1282 2 564 Cinema had 9
Maltings Castle 2,045 1.820 more visitors that
Frimrose Park lasz 1,525 Maltlngs CES'“'E
Filrm Land Cinerma 2054 1,595
= True
2564
- The same number of people visited T
Maltings Castle as Film Land Cinema rue
Animal World
on Saturday.
. 00 - 3,846
- Double the number of people visited ,

. Maltings Castle -
Animal World Zoo on Sunday than 2 865
Saturday. "

i Primrose Park -
. The least popular attraction of the
) 3277
weekend was Primrose Park. '
Filmm Land
Cinema -

35,649
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[ can do this!

[ need help!

Check your
work!!

Did you meet the
learning
objective?

Self assess- How
did you find the
work today?



